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1. 

2ab − a2 − b2 =  

  
 A. (a − b)2 
 B. (−a − b)2 
 C. (−a + b)2 
 D. −(a + b)2 
 E. −(a − b)2 
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2. 

125a ⋅ 5b = 

  
 A. 625a + b 
 B. 625ab 
 C. 125a + 3b 
 D. 5a + 3b 
 E. 53a + b 
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3. If 4p = 9q, then 

2

2

9

4

q

p
= 

  
 A. 1 
 B. 

9

4
 

 C. 

4

9
 

 D. 
(

9

4
)2 

 E. 
(

4

9
)2 

  
80 
4. 

If n = 10a, then log10n = 

  
 A. 10a 
 B. 10n 
 C. n

a
 

 D. a
n
 

 E. a 
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5. 11
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 A. x
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 B. x
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6. 

If 
x

1
 = a + b and 

y

1
 = a − b,  

then x + y = 
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If x = 
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 A. 

18

1
 

 B. 

15

1
 

 C. 

5

1
 

 D. 5 
 E. 5n 
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9. 

Solve the inequality 

(4x + 3)(x − 4) > 0 
  
 A. x > 4 
 B. 

4 > x > 
4

3
−  

 C. 

4

3
−  > x 

 D. 

4

3
−  > x or x > 4 

 E. 
x > 

4

3
−  
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10. 

When the hour hand has turned through 
an angle x

o, what is the angle through 
which the minute hand has turned? 

  
 A. 6x

o 
 B. 12x

o 
 C. 60x

o 
 D. 360x

o 
 E. 3 600x

o 
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11. 

The first term of an arithmetic 
progression is 6 and its tenth term is 
three times its second term.  The 
common difference is 

  
 A. 18 
 B. 4 
 C. 3 
 D. 2 
 E. 1 
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12. 

A man solid a car for $35 000 at a loss 
of 30% on the cost price.  What would 
have been the loss or gain percent if he 
had sold it for $50 500? 

  

 A. A gain of 10% 
 B. A gain of 1% 
 C. No gain nor loss 
 D. A loss of 10% 
 E. A loss of 1% 
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13. 

If the length of a rectangle is increased 
by 10% and the width decreased by 
10%, which of the following is true? 

  
 A. Its area remains the same 
 B. Its area is decreased by 1% 
 C. Its area is increased by 1% 
 D. Its area is decreased by 10% 
 E. Its area is increased by 10% 
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14. 

The length of a side of a rhombus is  
10 cm.  If its shorter diagonal is of 
length 12 cm, what is the area of the 
rhombus in cm2? 

  
 A. 60 
 B. 96 
 C. 100 
 D. 120 
 E. 192 
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15. 

If the bearing of B from A is S30oW, 
then the bearing of A from B is 

  
 A. N30oE 
 B. N60oW 
 C. N60oE 
 D. S30oW 
 E. S30oE 
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16. 

1
sin
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 A. 2 tan θ 
 B. 2 tan2 θ 
 C. 

θ
2tan

2
 

 D. 

θ

θ

2cos

sin2
 

 E. 

θ
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